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       Quiz on Chapter 2
1. Place the following numbers on the number line.

{4, -3, 
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, -(, 
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, 
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, -1.18, 0}
2.  State the opposite of the numbers in problem one.
3.  if x = -2, what is –x?

4.  Add
15 + (-2) + 7 + 14 + (-5) + (-12)
5. Add 
-1271 + (-|-13|)
6.  Simplify
-3 – (-5) – 9 + 4 – (-6)                                       

7. Subtract 
-93 – (-84) – 41 – (-56)
8. Simplify
(-2)3((-3)2
9. Multiply
(-5)6(-4)5
10. Simplify
(-1)12
11.  Simplify
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12.  Simplify 
(-2)(|3 – 22| + 5
13. Simplify
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14. Simplify
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15. if 
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35

, what is a equal to?  What is b equal to?
16. Givcn the expression 
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, what is the values of the expression for C = 30.
17. Evaluate –x3 for x = -2
18. Use the distributive property to find a simpler equivalent expression for

(x + 4)2 – 9(y – 7)
19. Combine like terms
a) 4m – 2n2 + 5 + n2 + m -9

b) x + 7y + 5 – 2y + 3x

c) 3x4 – 2y4 + 8x4y4 – 7y4 + 8y4
d) 9 – 5[x + 2(3 – 4x)] + 14

20. Solve for x
a) 7 + t = -18
b) 7x – 3 = 25

c) –x – 6 = -8

d) 2x – 4 + 3x + 5 = (2 + 3)x  + (-4 + 5)
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